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(BHCS-302) 

Note: Attempt questions from all Sections as per 

[Maximum Marks:75 

Section-A 

(Very Short Answer Type Questions) 
Answer any two questions out of the following 

five questions. Each question carries 7marks. 
7½x2=15 



1. 

2. 

3. 

4. 

5. 

6. 

7. 

What is DBMS ? Why do we need it ? 

What is an entity ? Also mention the types of 

entities. 

(2) 

Define normalization. 

Define data independence and its types. 

What doyou mean by SQL? 

(Short Answer Type Questions) 

Answer any one question out of the following 

three questions. Each question carries 15 marks. 

Section-B 

Explain Architecture ofDBMS. 

DBMS. 

NS-3299(CV-III) 

Explain the different types ofrelationships used in 

15x]=15 



NS
-3

29
9(

CV
-II

I) 

SA
L

A
R

Y
-R

en
t 

D
EP

T-
St

rin
g 

DOB
 

-D
ate

 
EMP

 
Nam

e 
-C

ha
ra

ct
er

 
EMP

 
N0

-N
um

be
r 

(b) 

Cre
ate

 

EMP tab
le 

usin
g 

fol
low

ing
 

fiel
ds de

let
io

n 

ar
om

al
ie

s in
 

the 

da
ta

ba
se

. 

10. (a) 

Ex
pla

in 

bri
efl

y, 

ins
ert

ion
, 

up
dat

ion
 and 

into
 

ac
co

un
t 

mi
nim

um
 five
 

en
titi

es
. 

inf
or

m
ati

on
 

abo
ut 

co
mp

an
y 

da
tab

ase
, 

tak
ing

 

(b) 

Ex
pla

in an
 

E-R 

dia
gra

m for 
kee

pin
g 

trac
k of

 

9.
 

(a) 

Ex
pla

in thre
e 

sch
em

a 

arc
hit

ec
tur

e. 

22
/>

x2
=4

5 

five
 An

sw
er any two 

qu
es

tio
ns

 out of
 

the 

fo
llo

wi
ng

 

(D
eta

ile
d 

An
sw

er Typ
e 

Qu
es

tio
ns

) 

Se
ct

io
n-

C co
ntr

ol 
lan

gu
ag

e. 
(c) 

Data
 

ma
nip

ula
tio

n 

lan
gu

ag
e and Dat
a 

(b) 

Tri
gge

rs and 
Cu

rso
rs 

(a) 

Stro
ng ent
ity and Wea

k 

ent
ity 

8.
 

Dif
fere

ntia
te 

betw
een

: 

(3) 

qu
est

ion
s. 

Eac
h 

qu
est

ion
 

car
rie

s 22½ 

ma
rks

. 



11. 

12. 

() Create table and enter 5 records 

(ii) Find total salary ofall employees 

(ii) Findhighest salary ofemployee 
(iv) Find longest salary ofemployee. 

(a) Explain the different types oflocks. 

(4) 

(b) Explain the different DDL (Data Definition 

Lang.) commands with syntax and examples. 

(a) Write a PL/SQL program to perform basic 

arithmatical operations. 
(b) Write a PL/SQL program to check wheather 

agiven 
year is leap year or not. 

13. Explain the following: 
(a) TRÊ GGERS 

(b) CURSORS 

(c) PROCEDURES. 
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